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1. Attempt all questions.
2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Define the following terms.

(i) Absorption factor (ii) Hlumination (iii) Lamp efficiency (iv) MSCP (v)
Lumen (vi) Space height ratio (vii) Utilization factor

State and explain different factors to be considered while selecting motor in
electric drive.

State different types of traction systems. Give advantages and disadvantages of
electric traction system over other form of traction system.
Draw the speed time for following train services and compare them.
(i) Main line service (ii) Suburban service (iii) Urban service.

OR
A train has a schedule speed of 30 kmph on a level track. The distance
between two stations being 1 km., station stopping time is 20 seconds.
Assuming braking retardation of 3 kmphps and maximum speed 25
percentages greater than average speed, calculate acceleration to run the
service. Assume trapezoidal speed time curve.

State and explain Inverse square law of lllumination.
Explain working principle of dielectric heating. Obtain equation of power for
it. Also give its applications.

OR
Explain construction and working of electronic ballast. State its advantages.
Give classification of induction furnace. Explain construction and working of
horizontal core type induction furnace. Also state its disadvantages.

State advantages of electric welding. Compare resistance welding and arc
welding.
Give comparison between group drive and individual drive.
State and explain safety measures in traction elevators.

OR
A 20 KW, 220 volt, single phase resistance oven employs circular nichrome
wire for its heating element. If the wire temperature is not exceeding 1127°
and the temperature of the charge is to be 427° then calculate the length and
diameter of the wire required. Assume radiating efficiency as 0.6 and
emissivity as 0.9. The specific resistance of nichrome- alloy is 1.09 x 10° Q-
m.
Explain briefly types of elevator machine.
Explain how hydraulic elevator works.

Explain construction and working of High Pressure Mercury Vapour lamp.
Also state its applications.
Explain concept of star system for energy conservation.
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State possible troubles and causes in electric iron.

OR
Explain construction and working of mixer-grinder. Which type of motor is
used in it?
Which troubles can be exist in running winding of ceiling fan? Explain the
method to test it.
Explain working principle of microwave oven. State its frequency range.
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